
John Deere > Agriculture >TRACTOR >300 - TRACTOR >300 Tractor (PC4640) >90 Operators Station >ROPS - ST728520

Copyright © 2020 Deere & Company. All Rights Reserved.219



John Deere > Agriculture >TRACTOR >300 - TRACTOR >300 Tractor (PC4640) >90 Operators Station >ROPS - ST728520

KEY PART NO. PART NAME QTY Serial No. REMARKS

1 SJ14861 ROPS 1 ______-
610001

1 SJ23421 ROPS 1 610002-
______

2 SJ14863 ROPS 1 ______-
610001

2 SJ23422 ROPS 1 610002-
______

3 SJ288434 Pin 2

4 SJ332892 ROPS 1 ______-
610001

4 SJ23423 ROPS 1 610002-
______

5 SU27197 Bolt 4

6 SU318719 Bolt 2

7 SU318979 Lock Washer 2

8 SU318982 Lock Washer 14

9 SU27822 Label 1 ______-
610001

10 14M7509 Nut 2 M10

11 19M3212 Cap Screw 6 M16 X 55

12 19M8206 Screw 4 M16 X 45

13 24M7028 Washer 2 10.500 X 20 X 2 mm
Copyright © 2020 Deere & Company. All Rights Reserved.220


	ST728520 - ROPS

